Quiz for Unit 2

I. Fill in the blanks in the following sentences with the phrases or expressions given below. Change the form where necessary.

1. She refused to ________ the car keys to her husband until he had promised to wear his safety belt.

2. When he writes, he always keeps a dictionary ________.

3. All the signs ________ an early resumption of the battle.

4. The wealth of a country should be measured ________ the health and happiness of its people as well as the material goods it can produce.

5. There is no ________ going by car if we can’t park near the theatre.

6. I usually enjoy his films, but the last one didn’t ________ my expectations.

7. He walked slowly ________ his bad leg.

8. Peter will ________ as managing director when Bill retires.

9. What you should say in your speech is entirely ________ you.

10. Don’t ________ too much work at once, or you will make yourself too tired.

II. Choose the best that completes the sentences.

1. Professor Smith and professor Brown will _______ in giving the class lectures.

A. alter B. change C. alternate D. differ

2. Your _______ at the meeting yesterday hurt me very much.

A. behavior B. action C. conduct D. benefit

3. Acting is very _______ and you’ve got to push yourself if you want to succeed.

A. aggressive B. progressive C. competitive D. impressive

4. This train _______ over three hundred passengers every day.

A. transmits B. ships C. conveys D. ferries

5. It is recommended that the project ________ until all the preparations have been made.

A. is not started B. will not be started C. not be started D. is not to started

6. The police _____ the evidence by legal means that George murdered his wife.

A. achieve B. gains C. obtained D. contained

7. It is most _____ that he should attend the conference.

A. good B. wanted C. doubtful D. desirable

8. My sister’s wedding _____ with my exam so I couldn’t go and congratulate her.

A. clashed B. collided C. disagreed D. contested

9. With _____ winds, a sailing ship could outrun a stream ship.

A. profitable B. favorable C. advantageous D. beneficial

10. I prefer to put the meeting off ______ it without adequate preparations.

A. than hold B. rather than hold C. than to hold D. rather than hold

11. Professor Taylor’s talk has indicated that science has a very strong ______ on the everyday life on non-scientists as well as scientists.

A. motivation B. perspective C. impression D. impact

12. Mr. Morgan can be very sad _____, though in public he is extremely cheerful.

A. by himself B. in person C. in private D. as individual

13. The tomato juice left a brown _____ on the front of my jacket

A. spot B. point C. track D. trace

14. Some old people don’t like pop songs because they can’t _____ so much noise.

A. resist B. sustain C. tolerate D. undergo

15. Jackson had to ____ in the middle of his speech because of shouts of protest from the audience.

A. break down B. break off C. break out D. break up

16. She is so careless with her spelling that she often leaves ______letters in some words.

A. out B. off C. alone D. behind

17. The most _____technological success in the twentieth century is probably the computer revolution.

A. prominent B. distinguished C. outstanding D. well-known

18. Peter said that he felt ________.

A. like seeing a film B. like to see a film C. to see a film D. about seeing a film

19. Mary didn’t feel like going shopping alone, so she asked me to ________ her to the market.

A. accommodate B. accord C. accompany D. accustom

20. ____________, but he spoke more easily.

A. Not only did he speak more correctly

B. Not only he speak more correctly

C. Not only he speaking more correctly

D. Not only speak he more correctly

III. Answer the following questions with the information from the passage.

PASSAGE 1

The need for a surgical operation, especially an emergency operation, almost always comes as a severe shock to the patient and his family. Despite modern advances, most people still have an irrational fear of hospitals and anaesthetics.

In the early years of last century there was little specialization in surgery. A lung, the whole stomach, or even part of the brain can be removed and still permit the patient to live a comfortable and satisfactory life.

One of the most revolutionary areas of modern surgery is that of organ transplants. Until a few years ago, no person, except an indentical twin, was able to accept into his body the tissues of another person without reacting against them and eventually causing death. Recently, however, it has been discovered that with the use of x-rays and special drugs, it is possible to graft tissues from one person to another which will survive for periods of a year or more. Kidneys have been successfully transplanted between non-identical twins. Heart and lung transplants have been reasonable successful in animals, though rejection problems in humans have yet to be solved.

“Spare parts” surgery, the simple routine replacement of all worn-out organs by new ones, is still a dream of the distant future. As yet, surgery is not ready for such miracles. In the meantime, you can be happy if your doctor says to you“, Yes, I think it is possible to operate on you for this condition.”
1. Most people are afraid of being operated on in spite of ________.

2. A patient can still live a comfortable and satisfactory life even after the removal of ________.

3. What’s the main difficulty in organ transplanting?

4. Is “spare parts” surgery possible now?

5. You can be happy if your surgeon can operate because it means ________.

PASSAGE 2

A good modern newspaper is an extraordinary piece of reading. It is remarkable first for what it contains: the range of news from local crime to international politics，range of comment and special features as well, from editorial page to feature articles and interviews to “criticism of books, art, theatre and music. A newspaper is even more remarkable for the way one reads it：never completely never straight through but always by jumping from here to there, in and out glancing at one piece, reading another article all the way through, reading just a few paragraphs of the next. A good modern newspaper offers a variety to attract many different readers，but far more than any one reader is interested in．What brings this variety together in one place is its topicality “immediate relation to what is happening in your world and your locality now. But immediacy and the speed of production that goes with it mean also that much of what appears in a newspaper has no more than transient value, For all these reasons, no two people really read the same paper: what each person does is to put together, out of the pages of that day’s paper , his own selection and sequence，his own newspaper, For all these reasons, reading newspapers efficiently, which means getting what you want from them without missing things you need but without wasting time, demands skill and self-awareness as you modify and apply the techniques of reading.
1. A modern newspaper is remarkable for the following except its _______.

A. wide coverage B. uniform style

C. speed in reporting news D. popularity

2. According to the passage, the reason why no two people really read the “same” newspaper is that_______.

A. people scan for the news they are interested in

B. different people prefer different newspapers

C. people are rarely interested in the same kind of news

D. people have different views about what a good newspaper is

3. It can be concluded from the passage that newspaper readers _______．
A. apply reading techniques skillfully

B. jump from one newspaper to another

C. appreciate the variety of a newspaper

D. usually read a newspaper selectively

4. A good newspaper offers “a variety” to readers because_______.

A. it tries to serve different readers

B. .it has to cover things that happen in a certain locality

C. readers are difficult to please

D. readers like to read different newspapers

5. The best title for this passage would be _______.

A. the importance of newspaper topicality

B. the characteristics of a good newspaper　
C. the variety of a good newspaper

D. some suggestions on how to read a newspaper

PASSAGE 3

Since we are social beings, the quality of our lives depend in large measure on our inter personal relationships one strength of the human condition is our tendency to give and receive support from one another under stressful circumstances.

Social support consists of the exchange of resources among people based on their interpersonal ties. Those of us with strong support systems appear better able to cope with major life changes and daily hassles. People with strong social ties live longer and have better health than those without such ties. Studies over a range of illnesses, from depression to heart disease, reveal that the presence of social support helps people fend off illness, and the absence of such support makes poor health more likely.

Social support cushions stress in a number of ways. First, friends relatives, and co-workers may let us know that they value us. Our self-respect is strengthened when we feel accepted by others despite our faults and difficulties. Second, other people often provide us with informational support. They help us to define and understand our problems and find solutions to them. Third we typically find social companionship supportive. Engaging in leisure time activities with others helps us to meet our social needs while at the same time distracting us from our worries and troubles. Finally other people may give us instrumental support financial aid, material resources, and needed services-that reduces stress by helping us resolve and cope with our problems.

1. Interpersonal relationships are important because_______.

A. they are indispensable to people's social well — being

B. they awaken people’s desire to exchange resources

C. they can cure a range of illnesses such as heart disease1nesses

D. they help people to cope with life in the information era

2. Research shows that peop1e’s physical and mental health _______.

A. relies on the social welfare systems which support them

B. has much to do with the amount of support they get from others

C. depends on their ability to deal with daily worries and troubles

D. is closely related to their strength for coping with changes in their lives

3. Which of the following is closest in meaning to the word “cushions” (line 1 para.3 )?

A. adds up to B. does away with

C. lessens the effect of． D. lays the foundation for

4. Helping a sick neighbor with some repair work is an example of______.

A. instrumental support B. informational support

C. social companionship D. the strengthening of self-respect

5. Social companionship is beneficial in that_______.

A. it helps strengthen our ties with relatives

B. it enables us to eliminate our faults and mistakes

C. it makes our leisure-time activities more enjoyable

D. it draws our attention away from our worries and troubles

IV. Translate the following sentences into Chinese.

1. Leading opponents of the proposed cuts in defense spending will meet later today. 2. Sportsmen who play abroad should remember that they are ambassadors of their countries.

3. We thought he had been killed in the war, but our prayers were answered when he arrived home unexpectedly.

4. Everyone sat in silence as a young Vietnam veteran spoke about his experiences during the war.

5. He said that someone might be spying on the station and the pilot was ordered to keep track of the strange object.

V. Translate the following sentences into English.

1. 参加市议会竞选的人比以往都多。
2. 在有些国家，与政府作对的人有可能失去工作。
3. 大使答复说他认识到在这个问题上无法作任何声明。
4. 经过数小时的激烈谈判，总统占了上风。
5. 现在我要比以前更努力地学习英语，每星期要比学生们超前一章。
Key to Quiz for Unit 2

I. 1. hand over 在她丈夫答应系安全带以前，她拒绝把车钥匙给他。【解析】hand over 意为“交出，移交”。
2. at hand 他写东西的时候手边都要放本字典。【解析】at hand 意为“手边有；手头有( 事情)”。
3. point to 所有迹象都表明，战斗不久即将开始。【解析】contribute to 意为“有助于，促进”。
4. in terms of 国家的财富应该根据人们的健康和所生产的物质商品来测量。【解析】in terms of 意为“以⋯的方式表示；就⋯来说；根据，按照”。
5. point in 如果剧院门口不让停车，开车去也没用。【解析】There is no point/use/good in doing sth. 意为“做某事没有道理或没有用处”。
6. come up to 我一向喜欢他的电影，但是最近的一部并不像我期望的那样好。【解析】come up to 意为“达到”。
7. because of 他走得慢是因为腿有毛病。【解析】because of 意为“由于，”。
8. take over 比尔退休后，彼得接任总经理。【解析】take over 意为“接收，接管；接任”。
9. up to 你在讲演中应该说些什么完全取决于你自己。【解析】up to 意为“该由⋯”。
10. take on 不要一下子承担太多的工作，否则你会累坏你自己。【解析】take on 意为“承担”。
II. 1. C 史密斯和布朗教授轮流给这个班上课。【解析】近义词辨析题。alter 改变；change 改变；alternate 交替，轮流；differ 不同。
2. A 昨天你在会上的行为举止严重地伤害了我。【解析】近义词辨析题。behavior 行为。指在他人面前，或特殊场合的行为，尤指交际上的细节；conduct 行为。关于道德的行为。
3. C 演戏非常有竞争性，而你如果想要成功，就必须全力投入。【解析】词义辨析题。aggressive 侵略的，放肆的；progressive 进步的，先进的；competitive 竞争的；impressive 感人的，给人以深刻印象的。
4. C 这趟火车每天运送三百多名旅客。【解析】词义辨析题。transmit 传播，传递，强调由媒介物把物体送到某地；ship 指用船或其他交通工具搬运；convey 运送，输送；ferry 指船、气垫船、飞机等在江河、海峡两岸或其他两地之间来回渡运。
5. C 建议在一切准备工作做好后再开始这一项目。【解析】demand, desire, insist, order, recommend, suggest等表示“建议、命令、愿望”等的动词后宾语从句的谓语动词要用虚拟语气，即动词原形或“should+ 动词原形”。本题的结构是“It+ 这类动词的被动语态+that 从句”，that 引出的是主语从句，这种主语从句中的谓语动词同样要用虚拟。
6. C 警察通过法律手段, 找到了乔治谋杀妻子的证据。【解析】近义词辨析题。obtain 获得, 找, 通过艰苦努力得到；achieve 指取得成功；gain 得到。
7. D 他能来参加这个会议就好了。【解析】desirable 想要的, 合乎愿望的, 令人满意的, 在it is desirable that...结构中, that 从句中的谓语常用原形动词或should+ 原形动词表虚拟语气, 其他三词均无此用法。
8. A 我姐姐的婚礼和我的考试冲突了, 所以我不能去祝福她。【解析】近义词辨析题。collide 相撞, 反对；disagree 不同意, 争论; contest 竞争, 斗争 clash with 等于is at the same time, 即“同时进行”而产生的“冲突”。
9. B 在顺风的情况下, 帆船可以比轮船行驶得更快。【解析】近义词辨析题。favorable 环境有利的，本句指在顺风的情况下；profitable 可获得实际好处的, 指物质钱财方面；advantageous 有利地位, 强调取得优势等；beneficial 有好处的, 多指对健康有益。
10. B 没有充分的准备, 我宁可推迟会议。【解析】固定搭配prefer sth. to sth. 或 prefer to do sth. rather than do sth..

11. D 泰勒教授的讲话表明科学对科学家以及非科学家的日常生活具有巨大的影响。 【解析】近义词辨析题。motivation 动机; perspective 前景; impression 印象; impact 影响。
12. C 摩根先生私下里可能非常悲伤, 尽管他在大家面前表现得很开心。【解析】近义词组辨析题。by himself独自地；in person 亲自；in private 私下；as individual 作为个人。__13. A 西红柿汁在我的夹克前面留下了棕色的斑点。【解析】近义词辨析题。spot 斑点,污点,地点,场所；point场所地点；track 行经小路, 跑道； trace 场所, 地点。
14. C 有些老年人不喜欢流行音乐, 因为受不了那么多噪音。【解析】近义词辨析题。resist 抗拒, 抵抗；sustain维持；tolerate 忍受；undergo 经受经历。
15. B 因为观众的抗议声, 约翰逊不得不在讲演时听下来。【解析】近义词组辨析题。break down 跨下来, 出现故障; break off 停下来, 分离, 尤指打断他人讲话; break out 爆发; break up 粉碎
16. A 她拼写时不小心, 经常漏掉字母。【解析】近义词组辨析题。leave out 意为“略去, 漏掉”; leave off 意为“停止中断”；leave alone“不管, 不理会”；leave behind 意为“留下, 忘带”
17. A 20 世纪最显著的科技成就可能是计算机革命。【解析】近义词辨析题。prominent 突出的, 显眼的；prosperous 繁荣的, 富裕的；solemn 庄严的；prevalent 普遍的, 流行的。
18. A 彼得说他想看电影。【解析】feel like 为固定搭配，表示“想要做⋯”，后接名词或动名词。
19. C 玛丽不喜欢独自去购物，所以她请我陪她逛市场。【解析】近义词辨析题。accommodate 容纳；accord“一致”，常与with 连用；accompany 陪伴；accustom “习惯”，常用短语为be accustomed to。
20. A 他讲话不仅更正确，而且讲得也较不费劲了。【解析】not only 放在句首，其后用倒装语序。
III. 1. modern advances in surgery

2. the stomach or one lung

3. The body’s tendency to reject alien tissues.

4. No, it has yet to become a reality.

5. your illness may be curable

Passage2: B A D A B

Passage3: A B C A D

IV. 1. 反对削减国防开支这一建议的带头人在今天晚些时候会面。
2. 在国外参加比赛的运动员应该记住自己是国家的代表。
3. 我们以为他已经死在战争中了，但他意外的回家应验了我们的祈祷。
4. 大家都静静地坐着，听一位年纪不大的越南老兵讲述他的战争经历。
5. 他说可能有人对基地进行侦察, 于是便命令飞行员跟踪这个不明物体。
V. 1. More people than ever before are running for the city council.

2. In some countries, any opponent of the government is likely to lose their job.

3. The Ambassador replied that he realized that no statement could be made on this subject

4. After hours of fierce negotiations, the president had/got the upper hand.

5. Now I shall have to study the English language in earnest, keeping one chapter ahead of the students each week.

hand over 		at hand 		in terms of 		point to 		take on


point in 			come up to	take over 		because of 	up to








